ggd

ud gd ud ud ooooobod
1 — gogooooo E 693,750
2 = ggd E 462,500
3 — ggoooobooog E 231,250
T4 = ggd E 137,593
T4 — ggoooooggd E 137,593
T6 — gogoooo E 111,000
T6 = godgd E 111,000
T8 = goo E 86,333
T8 = goo E 86,333
10 = g E 65,983
T11 ® goooo E 53,418
T11 = ggd E 53,418
T13 = ggd E 42,920
T13 = ggd E 42,920
15 = goo E 36,036
T16 = ggd E 33,271
T16 = ggd E 33,271
T16 = ggd E 33,271
T19 = ggd E 30,486
T19 = ggd E 30,486
21 = ggd E 28,212
T22 = ggd E 25,148
T22 ® goooo E 25,148
T22 = ggd E 25,148
25 = ggd E 21,275
26 = ggd E 17,112
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